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At what percent per annum will 3000/- amounts to 3993/- in 3 years if the interest is

compounded annually?

Ife sarer arftier ® & HARTa fora STTaT & aF 3 a6t 7 3000/- fraer gfayra av 3993/- &

ATET?
(1) 9% (2) 10% (3) 11% (4) 13%




In how many years will 2,000 amounts to 2,420 at 10% per annum compound

interest?

foraer it 7 2,000 TFT 10% Tnfier wshRafes sawT W 2,420 & STTE?
(1) 3 years (2) 2 (1/2) years (3) 2 years (4) 1(1/2) years




A person deposited a sum of 6,000 in a bank at 5% per annum simple interest. Another person
deposited 5,000 at 8% per annum compound interest . After two years, the difference of their
interests will be

Teh AT 6,000 HT THT Uk A H 5% A T ATHARUT SATST kY X H THT HAT 2. Th 3T A
8% SNk Trshafeg ST Y ST W 5,000 STHT AT B1 Y T 18, Ik et o1 Siae T Em?

(1) 230 (2) 232 (3) 832 (4) 600




Sita deposited 5,000 at 10% simple interest for 2 years. How much more money will Sita
have in her account at the end of two years, if it is compounded semi- annually.

HaT T 2 a9 & 7T 10% areamor s R 5,000 ST R S ad & ofd # Hiar & |@ra ' fahar
a1fereR AT BN, afe ag srdanfies o & g &Y ATt &2

(1) 50 (2) 40 (3) 77.50 (4) 85.50 -]




The amount on Rs. 25,000 in 2 years at annual compound inter- est, if the rates for the

successive years be 4% and 5% per annum respectively is :

TR Trshgieg STATET U 2 AT § 25,000 TN ¥ W, A3 shifvres Tut o fog ST shaer: 4%
IR 5% afaad &, AT e?
(1) Rs. 30,000 (2) Rs. 26,800 (3) Rs. 27,300 (4) Rs. 28,500
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If the amount is 2.25 times of the sum after 2 years at compound interest (compound annually), the

rate of interest per annum is :

afe aivr werafy s (arfie w0 & W) U 2 TNt o arg i T 2.25 TAT §, 9 i) af s S
FTE?

(1) 25% (2) 30% (3) 45% (4) 50%




A sum of money placed at compound interest doubles itself in S years. In how many
years, it would amount to eight times of itself at the same rate of interest ?

TR (g, SATST WX Tt T2 U ST 5 q6t H qUHT &Y et 8. foverr i/, wwm sars
T IE T T 313 TAT &Y AT

(1) 10 years (2) 15 years (3) 7 years (4) 20 years




A sum of money becomes eight times in 3 years, if the rate is compounded annually. In how
much time will the same amount at the same compound rate become sixteen times?

T SARTIYT 3 N1/ 3118 TAT &1 AT &, AT a% Afiieh ©0 & WA chl AT 8. WHH Tshd g &

W FAR ART foham & & Hietg AT 8 Seit?
(1) 6 years (2) 4 years (3) 8 years (4) 5 years




The difference between C I and S I for 2 years at 10% rate of interest is Rs. 4. Find
the sum of money

10% AT HTr R Y 2 I8 & 18 C 1 31 S T =y 1 24T 4 TuX 31 g B v {1
IR,

(1) Rs. 400 (2) Rs. 200 (3) Rs. 300 (4) Rs. 800
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The difference between simple and compound interest (com-pounded annually) on a sum o:
money for 3 years at 10% per annum is Rs. 93. The sum (in Rs.) is :

T SR T 10% T o =t S & 3 i o forg arermor 3R wehafs sare (i w0 & w3t

fera ) o sfrer @ ofer 93 W . vt (BuR W) ®:
(1) 30000 (2) 30300 (3) 3000 (4) 3030




The difference between C I and S I for 3 years at 10% rate of interest is Rs. 62.
Find the sum of money.

10% AT HI R Y 3 9 & 10 C 1 31 S T =T =1 21T 62 TaF ) g Ry afsr 7
I D)

(1) Rs. 4000 (2) Rs. 2000 (3) Rs. 3000 (4) Rs. 8000




If the difference between the compound interest and simple interest on a sum at 5% rate of
interest per annum for three years is 36.60, then the sum is

qfe i aw & forg i ot 5% sarr it & foret it R weha ey sarst o |ramor s &

oer &7 3R 36.60 B, Y AT T R?
(1) 8000 (2) 8400 (3) 4400 (4) 4800



- The compound interest on a certain sum of money at a certain rate per annum for two years
is 2,050, and the simple interest on the same amount of money at the same rate for 3 years is
3,000. Then the sum of money is

w fafare aftr o v R aftn w ufa ot o Rfa o S ot & forg wrafe s 2,050 2,
SR AT RN o) U X W 3 a6 & foro "ramor st 3,000 R, @ g Ry aidraar @2
(1) 20,000 (2) 18,000 (3) 21,000 (4) 25, 000 -]




On a certain sum of money, the simple interest for 2 years is Rs. 350 at the rate of 4% per
annum. If it was invested at compound interest at the same rate for the same duration as

before, how much more interest would be earned ?

o A ot |, 2 a8 & fore aramur STt 4% ute T Y A 350 Tud R, afe s uger Y
TAT AT % FoTg wrm o WX wrshdfes, et W AT o smar, at feramn atferes sarer e

grar?

(1) Rs. 3.50 (2) Rs. 7 (3) Rs. 14 (4) Rs. 35




Compound interest on a sum of money for 2 years at 4 per cent per annum is 2, 448. Simple
interest of the same sum of money at the same rate of interest for 2 years will be

Tah SRR O 2 T & To1T 4% Ufa aw ot X & v i STt 2, 448 3. T 4=RT9T 6T 2 6t & forg
AT ST R R GTRUT ST AT FWT?
(1) 2,500 (2) 2,400 (3) 2,360 (4) 2,250




Rs. 260200 is divided between Ram and Shyam so that the amount that Ram receives in 4
years is the same as that Shyam receives in 6 years. If the interest is compounded annually at

the rate of 4% per annum then Ram’s share is

260200 TIX X 3T vaTH & =rer 38 TR fafre fore St § o 7 it 4 st o we i anet
T Sa-T €t & Rt vamT &t 6 aut & ue it 81 afe st @t 4% qfd ay 6 v & waiim fear

AT R, A T T R R 2
(1) Rs. 125000 (2) Rs. 135200 (3) Rs. 152000 (4) Rs. 108200
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A man gave 50% of his savings of 84,100 to his wife and divided the remaining sum among
his two sons A and B of 15 and 13 years of age respectively. He divided it in such a way that
each of his sons, when they attain the age of 18 years, would receive the same amount at 5%

compound interest per annum. The share of B was

Teh ST AT 84,100 ThY T T 50% AT Tt oY AT & SR I [T ! HA: 15 3 13
4 Y T & A G YAT A IR B & et FrenfRira o 31 72 38 3@ wwR R wwar g foe
I T T hl, AT A 18 TW T AT ATH T A 8, A Afed T 5% orehd{eg AT R XA
GHT ST AT AT, B 1 20T« o

(1) 20,000 (2) 20,050

(3) 22,000 (4) 22,050




The simple interest and compound interest (compounded annually) on a certain sum of
money with a given rate for a period of 2 years are 900 and 954 respectively. The sum of

money is

ue e afdr w2 ad i srafar & forg & v @ wramur AT SR TRt s (anfve w
| TRT) SHAT: 900 3R 954 3. g Fr afdr e
(1) 3700 (2) 3650 (3) 3850 (4) 3750







